Welche Schulform wiirden Sie wahlen, wenn Sie frei wahlen konnten?

Frage 10 - Auswertung nach Klassen
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1. Klasse 0 49 0 15 129 43 52 0
PUEEEECEIRE 2. Klasse 4 80 0 14 113 37 43 0
Gieboldeh .
} 4 79 0 9 114 41
(1.194) 3. Klasse 57 0
4. Klasse 6 74 1 3 107 51 68 1
3 14 282 1 41 463 172 220 1
) 1. Klasse 1 56 0 15 119 16 36 1
Hans':‘M:‘mie" und I asse 3 64 0 16 95 14 45 0
14
3.K 5 71 0 8 103 25 43 0
(994) lasse
4. Klasse 7 64 0 10 98 23 56 0
3 16 255 0 49 415 78 180 1
1. Klasse 6 133 28 34 244 77 19 0
Osterode am Harz 2. Klasse 21 116 30 49 193 79 41 0
(2.206) 3. Klasse 9 112 34 39 232 79 28 0
4. Klasse 20 132 47 41 214 113 33 3
3 56 493 139 163 883 348 121 3
) 1. Klasse 3 4 0 3 26 5 16 0
SeECHitE 2. Klasse 0 3 0 0 18 9 17 0
Radolfst 3.Kl 2 13 0 4 22 5 22 0
(226) . asse
4. Klasse 0 9 0 0 20 8 17 0
3 5 29 0 7 86 27 72 0
. 1. Klasse 6 24 2 34 110 7 53 0
R°Sd°rf'.F"edla"d' 2. Klasse 1 37 8 30 131 15 69 0
Gleichen 3.Kl 1 21 1 31 95 8 65 0
(996) . asse
4. Klasse 0 27 7 35 129 10 39 0
3 8 109 18 130 465 40 226 0
- 1. Klasse 0 15 0 15 77 16 36 1
SOEEReEth 2. Klasse 0 16 3 3 109 0 36 0
3.Kl 0 15 0 9 83 9 47 0
(656) asse
4. Klasse 0 9 0 7 90 9 51 0
3 0 55 3 34 359 34 170 1
1. Klasse 0 3 0 11 49 3 15 0
Dransfeld 2. Klasse 0 17 5 7 36 10 7 0
(312) 3. Klasse 2 8 0 10 36 5 13 0
4. Klasse 0 13 2 11 32 3 14 0
b3 2 41 7 39 153 21 49 0




